. " .. ST. GREGORIOS HIGH SCHOOL
: COMPUTER APPLICATIONS |
Std. : X Prelimlnary Exam Dt.: 16/01/2019 ~Marks -:100 Time: 2Hrs,

- Answer to this paper must be wiitten on the nanér n;gw_{nd cnparately You m” . tue aiowed
to wiite during the first 15 minutes. This time to be spentin reading the questro

given atthe head: of this paper is time allowed for the writing the answers.

This paper is divided into two sections. You are to answer all questions from secfion A, and any

four questions from section B. The intended marks for questions or parts of questions are given .):
in brackets |] :
SECTION A[40 Marks] -
Attempt all questions from this section
Question 1.
. Answer the foilowrng : : -
a) How are pnvate members of a class different from pubnc n*embers’? 2]
b).Differentiate between searching and sorting. : [2]

c) Arrange the operators given below in order of hrgher precedence to lower  [2]
‘precedence. -

1. && i.% n_r. >= iv. ++ X B

d) Wirite two characteristics of function overloading. ' (2]
e) Define data. abstraction. | S | 2
Ques}f/ n2: ' _ > " F S o
a) Convert the followrng into for loop B e, - R = a2y

inti=10,%=1; - , ST SR

T

X

* Systemi.out.printin(x);
Jwhile(x<=10); .

D) Arrange the fol!owmg prrmrtrve data types in an ascendmg order of their’ 2]
size: b

_ (i) char . (ii) byte (m) double: (rv) int - e _

- c) Wirite the return type of abs() and round() R

d) Give the drfference between nnt() and round() /(two pornts) SR -2

e) inta=5,b=12,c=3,max=0; -~ : S B

inax = (a=>b) ? (a>c)7 a:c :(b>c)?b:c; -
-System.out.printin(max); ’
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Que/s{ ion 3. i _ o
a).”/ Give the output of the fnllowmg ” e T 2
" i) “CHEER".replace('E’, 'I); - CeF L L e B |
i) “TEAR”.compare To(“FEAR"); - : SR .

b)  Give the initial (default) value of. char and byte data types - -{.2]

¢y Convertthe followmg snippet of the program into. if — else if - 12
char opn = 'a’;
switch(opn)
{ )
- .. case'a’ System out.printin(* OOP");break;
‘case.’'b’: System.out.printin(* JAVA®); break;
| default System out pnntlnr INVALID OPTION )
| )
-d) Give the output of the foltowrng expressron L - [2]
- at+=++a’++al--a%a-,whena=3° = - - ] - -

- the toop execute?
inti;
for(i=10; i>20; i++)
System.out.printin(i);
System.out.printin(i + 8);

) Consider the following String array and give the output.

e) Give the output.of fottowung snippet of the program. How many times dees [2]

@

String anf] = { "BANGALORE”, “KOLKATA’", "MUMBALJ", "UP' “CHENNA!” Y
System.out.printin{arr{0). length() > arr[1].length() b
System.out.printin(arr{2]. substring(3,3) );

Wnte the outputoffollowrng program code: = N Lo 12
charch; . _ » e o e T T
.mtx-71 4- : . . ===~ B i o .

~do R .
= (char)x; - ' : :
System out. pnntln(ch A ",);_ :
Cif(x % ==0) - B
-break
++X;
}whrle(x<“100) T ~ : T
h) Name any two library packages other than io and utrl ' 2]
) Difference between forma) and actual parameters. : | [2] :
) Write the function prototype (function definition) of tuncuon lntchar which [2) .
takes an integer argument and a character argument and returns a boolean
\ralue | LTt S .
,,,,'ﬂ :, e Yatulid T*mmgT
AL - C i
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SECTION B (60 Marks)
~ Attempt any four questions from this section.
ach program shouid be written using the Variabie descnpaon.’!‘."'.e...om, |
= Codes so that the iogic of the program is clearly depicted.
S Flow-Charts and Algorithms are not required.

Question 4. | the [15]

Design a class Railway TicKet wilh roilowmg description:

Instance variable / data members ™

String name : to store the name of the customer

tring coach - : to store the type of coach customer wants
long mobno : to store customer's mobile number
~ int-amt _ : to store basic amount of ticket
int totalamt : to store the amount to be pand after updatmg the ongmal
et -~ amount e

Member methods - | _

vgid accept() : Totake input for name, coach, mobile number and amount

void update() : To update the amount as per the coach selected:

‘ (extra amount to be added in the amount as follows)
Type Of Coaches =~ = Amount
- First AC _ 700
Second AC | - 500
: Third AC- - 250 -
... = __Sleeper ~ None
~void diéplay() : To display all the details ofa customer such as nanﬁe

' . coach, total amount and mobile number. -

Wirile a main method to-create an object of the class and call all the above

member meth ods.

Wiite the pr ograms to dlspiay the followmg pattern (2 separate programs)

( use loop variables only to dlsplay the patterns of q.1)

‘1- o 2, Acceptany string and dl_splay the followmg I
-1 ; nxample BLUEJ oL
121 JEULB _ S _ T "N

12321 -+ EULB LT efaie ooy
1234321 ~ ULB _ SR L - \ e
ey . ’ - S T Sy ey e T
12V454321 - LB ' . RS‘SQ\‘O CENR e K,:f."}\_é '
B | 5\_\?_“(@\_“&\‘\\}‘{\?) sﬁaﬁ\
- . . BRSO
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Q restron o. : - ‘
}.:ngu a classto OVEﬂOad a funchﬂn aroa{\ ae fr‘-"r\\ue ;
7

) double area(double a, double b, double c) with three doub!e

arguments, retums the area of scalene iriangle using the formula:

a+btc -

Wh‘&?‘a sS=-

rea —J&(S —a)(s—=b)(s—c)

i) ~ double area(int a, int b, int herght) with with three integer argumems

relurns the area of trapezrum usrng the formula .
rea = B height (atb) -

iii) '_ _double area(doub!e diagonalt, double dragonal2) wrth two double

arguments returnb the area of rhombus usmg the formula

" area= —(dragonaH X dragonaIZ)

\}éshon 7.

A special two-digit numberis a number when the sum of its drgrts added to the

product of its dlgits the resull is equal to the original two-digits number

example 59 . A
' - sum of digits =5+ 9 =14
product of its digits =5x9=45
- sum of the - sum of drgrts and product of drgrts = 14+45 = 59
Write a program to accept a two-digit number. Caculate and output the-

- .message "Special 2-digit number" otherwrse output the message
- 'Neota Qpemal 2—d|g|t number -

_\%{esbon 8. ' ' ' ' ' ' E
ite a program to store followrng names m an array n. Arrange them in.
ascending order. ’

"NASIR?Y, "AREEB" "OWA!S" "SHABINA" "ALMEIDA “GR!SH" "ANJANI"

'EXAMPLE :
INPUT
GOAT

_ . SHEEP
- COW
. BULL

- OUTPUT
BULL
COW
GOAT
SHEEP

A Ol L . : .‘

[5)

_.._.‘[1 o ;
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"EXAMPLE ' e

= | o [1 5]
AccepYany stnng, reolaca all the vnwels with the next alp‘waoct in m° string. - '

INPUT : NASIR UMER

OTUPUT : NBSJR VMFR
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